### CHANGE ORDER SUMMARY CITY OF NORMAN CLEVELAND COUNTY, OKLAHOMA

CHANGE ORDER NO3		DATE: June 15, 2015
CONTRACT NO.: K-1314-114		SUBMITTED BY: Tim Miles
PROJECT: Interstate Drive East Exte	nsion Project	
CONTRACTOR: Silver Star Construct 2401 S Broadway S Moore, Oklahoma 7	treet	
Original Completion Date: 180 Days a	after NTP	
Previous Completion Date: 200 Days	after NTP ORIGINA	L CONTRACT AMOUNT \$4,091,000
(Increase) this change orderCale	endar days	
New Completion Date N/A	PRESENT (	CONTRACT AMOUNT \$4,031,153.10
DESCRIPTION	DECREASE	INCREASE
As Built Quantities	\$340,569.08	\$94,967.33
	NET CH	IANGE <u>-\$245,601.75</u>
REV	ISED CONTRACT A	MOUN∕T \$3,785,551.35
CONTRACTOR: Silven Stor		1 4- //
ENGINEER:		DATE: 8/12/15
CITY ATTORNEY:		DATE:
ACCEPTED BY: (Mayor)		DATE:

#### CHANGE ORDER DETAIL CHANGE ORDER NO. 3 City of Norman Cleveland Co., Oklahoma

Project Name: Interstate Drive East Extension Project

Design Engineer: SMC Consulting

Address/Phone: 815 West Main St

Oklahoma City, OK 73106 (405) 232-7715

Project Account Number: 057-9545-431.62-01

Contract No. K-1314-114

- A. Change Orders or addenda to public construction contracts of One Million Dollars (\$1,000,000.00) or less shall not exceed a fifteen percent (15%) cumulative increase in the original contract amount.
- B. Change orders or addenda to public construction contracts of over One Million Dollars (\$1,000,000.00) shall not exceed the greater of One Hundred Fifty Thousand Dollars (\$150,000.00) or a ten percent (10%) cumulative increase in the original contract amount.
- C. Change orders or cumulative change orders which exceed the limits of subsection A or B of this section shall require a re-advertising for bids on the incomplete portions of the contract.
- H. All change orders shall contain a unit price and total for each of the following items:
  - All materials with cost per item;
  - 2. Itemization of all labor with number of hours per operation and cost per hour;
  - 3. Itemization of all equipment with the type of equipment, number of each type, cost per hour for each type, and number of hours of actual operation for each type;
  - Itemization of insurance cost, bond cost, social security, taxes, workers' compensation, employee fringe benefits and overhead cost; and
  - 5. Profit for the contractor.
- If a construction contract contains unit pricing, and the change order pertains to the unit price, the change order will not be subject to subsection A or B of this section.
- 2. When the unit price change does not exceed Ten Thousand Dollars (\$10,000.00), the unit price change order computation may be based on an acceptable unit price basis in lieu of cost itemization as required in paragraphs 1,2,3,4 and 5 of subsection H of this section.
- J. Alternates or add items bid with the original bid and contained in the awarded contract as options of the awarding public agency shall not be construed as change orders under the provisions of the Public Competitive Bidding Act of 1974.

## CHANGE ORDER NO. 3 (Continued)

Item No.	DESCRIPTION	Increase	Decrease
1	TEMPORARY SILT FENCE- 4,246.5 LF @ \$1.60/LF	\$0.00	\$6,794.40
2	(PL) TEMPORARY INLET SEDIMENT FILTER- 26 EA @ \$159.00/EA	\$0.00	\$4,134.00
3	TEMPORARY SILT DIKE- 50 LF @ \$9.50/LF	\$0.00	\$475.00
4	SOLID SLAB SODDING- 4,835 SY @ \$1.60/SY	\$7,736.00	\$0.00
5	MULCH SODDING- 11,868 SY @ \$0.10/SY	\$0.00	\$1,186.80
6	VEGETATIVE MULCHING- 11.9 AC @ \$371.00/AC	\$0.00	\$4,414.90
7	CEMTITIOUS STABILIZED SUBGRADE- 2,868 SY @ \$2.70/SY	\$7,743.60	\$0.00
8	PRIME COAT- 7,293 GAL @ \$1.70/GAL	\$0.00	\$12,398.10
9	SUPERPAVE, TYPE S3(PG 64-22 OK)- 226 TON @ \$50.05/TON	\$11,311.30	\$0.00
10	SUPERPAVE, TYPE S4(PG 70-28 OK)- 366 TON @ \$71.45/TON	\$26,150.70	\$0.00
11	P.C. CONCRETE PAVEMENT (PLACEMENT)- 1,881 SY @ \$18.70/SY	\$0.00	\$35,174.70
12	P.C. CONCRETE FOR PAVEMENT- 191 CY @ \$103.20/CY	\$0.00	\$19,711.20
13	P.C. COLORED/STAMPED CONCRETE FOR PAVEMENT- 249 CY @ \$166.30/CY	\$0.00	\$41,408.70
14	3'x3' RCB- 83 LF @ \$169.60/LF	\$0.00	\$14,076.80
15	4'x3' RCB- 1 LF @ \$190.80/LF	\$0.00	\$190.80
16	5'x3' RCB- 10 LF @ \$233.20/LF	\$0.00	\$2,332.00

# CHANGE ORDER NO. 3 (Continued)

Item No.	DESCRIPTION	Increase	Decrease
17	8'x3' RCB- 74 LF@ \$424.00/LF	\$0.00	\$31,376.00
18	CLASS C CONCRETE- 25 CY @ \$429.30/CY	\$0.00	\$10,732.50
19	TYPE I-A PLAIN RIPRAP- 26.07 TON @ \$58.30/TON	\$0.00	\$1,519.88
20	CONCRETE CURB (4" MNTBLE- INTEGRAL)- 3 LF @ \$27.50/LF	\$82.50	\$0.00
21	CONCRETE CURB (8" BARRIER- INTEGRAL)- 1,433 LF @ \$7.50/LF	\$0.00	\$10,747.50
22	2'-0" COMB. CURB & GUTTER (8" BARRIER)- 1,322 LF @ \$12.00/LF	\$15,864.00	\$0.00
23	DROP INLET DESIGN NO. 7- 1 EA @ \$8,480.00/EA	\$0.00	\$8,480.00
24	JUNCTION BOXES- 292 CF @ \$15.90/CF	\$0.00	\$4,642.80
25	18" R.C.PIPE CLASS III- 291 LF @ \$53.00/LF	\$0.00	\$15,423.00
26	36" R.C.PIPE CLASS III- 123 LF @ \$95.40/LF	\$0.00	\$11,734.20
27	28" X 18" R.C.PIPE ARCH CLASS A-III- 43 LF @ \$95.40/LF	\$0.00	\$4,102.20
28	6" PERFORATED PIPE UNDERDRAIN ROUND- 100 LF @ \$26.50/LF	\$0.00	\$2,650.00
29	6" NON-PERFORATED UNDERDRAIN RND 100 LF @ \$23.30/LF	\$0.00	\$2,330.00
30	36" X 22" PREFAB. CULVERT END SECTION, ARCH- 2 EA @ \$1,325.00/EA	\$0.00	\$2,650.00
31	DUCTILE IRON FITTINGS- 9,300 LB @ \$4.80/LB	\$0.00	\$44,640.00
32	6" POLYVINYL CHLORIDE (PVC) PIPE- 20 LF @ \$28.60/LF	\$0.00	\$572.00

## CHANGE ORDER NO. 3 (Continued)

Item No.	DESCRIPTION	Increase	Decrease
33	12" POLYVINYL CHLORIDE (PVC) PIPE- 82 LF @ \$41.40/LF	\$3,394.80	\$0.00
34	24" POLYVINYL CHLORIDE (PVC) PIPE- 111 LF @ \$101.00/LF	\$11,211.00	\$0.00
35	6" GATE VALVE AND BOX- 3 EA @ \$954.00/EA	\$0.00	\$2,862.00
36	12" GATE VALVE AND BOX- 1 EA @ \$2,226.00/EA	\$0.00	\$2,226.00
37	HYDROSTATIC PRESSURE- I LSUM @ \$1,272.00/LSUM	\$0.00	\$1,272.00
38	REMOVAL OF CONCRETE PAVEMENT- 326 SY @ \$10.00/SY	\$3,260.00	\$0.00
39	SAWING PAVEMENT- 3,163 LF @ \$3.00/LF	\$0.00	\$9,489.00
40	PRE-CONSTRUCTION VIDEO- 1 LSUM @ \$1,120.00/LSUM	\$0.00	\$1,120.00
41	(PL) REMOVAL OF LIGHT POLE- 1 EA @ \$848.00/EA	\$848.00	\$0.00
42	TRAFFIC STRIPE (PLASTIC)(4" WIDE)- 730 LF @ \$0.55/LF	\$401.50	\$0.00
43	TRAFFIC STRIPE (PLASTIC)(8" WIDE)- 135 LF @ \$0.75/LF	\$101.25	\$0.00
44	TRAFFIC STRIPE (PLASTIC)(ARROWS)- 27 EA @ \$101.00/EA	\$2,727.00	\$0.00
45	TRAFFIC STRIPE (PLASTIC)(SYMBOLS)- 14 EA @ \$11.00/EA	\$0.00	\$154.00
46	TRAFFIC STRIPE (MULTI- POLYMER)(4" WIDE)- 12,670 LF @ \$0.60/LF	\$0.00	\$7,602.00
47	TRAFFIC STRIPE (MULTI-POLY.)(8" WIDE)- 132 LF @ \$0.80/LF	\$0.00	\$105.60
48	TRAFFIC STRIPE (MULTI-POLY.)(24" WIDE)- 24 LF @ \$8.50/LF	\$0.00	\$204.00

## CHANGE ORDER NO. 3 (Continued)

Item No.	DESCRIPTION	Increase	Decrease
49	TRAFFIC STRIPE (MULTI- POLY.)(ARROWS)- 17 EA @ \$101.00/EA	\$0.00	\$1,717.00
50	PAVEMENT MARKING REMOVAL (TRAFFIC STRIPE)- 2,000 LF @ \$1.00/LF	\$0.00	\$2,000.00
51	PAVEMENT MARKERS CLASS C TYPE 1-B- 118 EA @ \$56.00/EA	\$0.00	\$6,608.00
52	PAVEMENT MARKERS CLASS C TYPE 2-C- 50 EA @ \$56.00/EA	\$0.00	\$2,800.00
53	PAVEMENT MARKERS CLASS C TYPE 2-D- 152 EA @ \$56.00/EA	\$0.00	\$8,512.00
54	8" LIME PRETREATMENT 3%- 2,872 SY @ \$1.44/SY	\$4,135.68	\$0.00